HFEO-B £ 1/ (2]

(1) O OBz sinxcos’x ZHNT 5 &

sinzxcoszx{coszx—sin2x+k< 1 1 >}:0

cos’x  sin’x

sin?xcos?x(cos?x —sin®x) + k(sin?x — cos?x) =0

2
<% . 25inxcosx> (cos?x —sin®x) — k(cos?x —sin®x) =0

< sin2x
2

sin?2x
74

2
> cos2x — kcos2x =0

—k)cos2x=0 ~~~~~~ @

a2
LoT Sm42x —k=0 F7IE¥ cos2x=0

0<2x<T ThHHMND, cos2x=0 L1 ZxZ% EoT x=F - ®
LERoT, kOEICBIRRL, x:% DL xHIZ D BH Y IO,

F77, 0<2x<7 THHANMD 0<sin?2x <1

1 2
Sm42x — k=070  sin’2y =4k

E>0 kv sin2x =42k Y

sin?2x .
— k=0 %%’z I, DX H> 5
1 7= x H DI N3

o0E>1Fbb k>% DEE A

2WE=1Fhbbh=t 0Lx sin2r=1 /

4

EoT x=7 _oJE |1

2k <13 bb 0<k<% DL x x=% LIgko 2

@ LEbEs L, O &M T x OfEEIX

>p0lE U 0<k<orE T3 k=g orE C1H

sin?2x 4
< 1 —%>0052x—0

4
(2) k:% L+onL, @&V

%<x<% v, %<2x<nw;ézma c0s2x %0
sin®2x 4 s 9o 16
JZOT 4 —%—0 @X_G\_ Sin ZX—%

X

%<2x<rccl:b, sin2x >0 THAMDH sin2x=*—z__)1



cos?2x =1—sin?2x LV 00822x=1—<—
§<2x<ﬂw, c0s2x <0 THBHMD

2 3 .
LoT 2cos x—l:—g Wz 1z
T T
I<x<? XV, cosx>0ThHrNbH

4>2_i
5) 25
//\_
CoS2x = = 3
5
1
2, =
cos x_5




